Chapter 9 Test Review



Name _______________________________

Graph the Quadratic Function.  You must use at least 3 points to graph.

· Label the vertex, the x-intercepts, and y-intercept if they exist.  

· Draw the axis of symmetry and write its equation. [image: image1.wmf]y
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· Show the calculations and work for finding the vertex.
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Solve the equation by factoring.
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Solve by completing the square.
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Solve by using the square root.  
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Solve by using the quadratic formula
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Use substitution or elimination to solve the system.
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Graph to solve the system
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Choose the best technique for solving and justify your answer for choosing that technique.
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Describe the pattern in the data. Does it represent, linear, exponential, or quadratic data?


	x
	y

	3
	11

	4
	18

	5
	27

	6
	38


	x
	y

	0
	3

	1
	6

	2
	12

	3
	24


	x
	y

	5
	14

	6
	16

	7
	18

	8
	20


20. 

21.

23.  

24. A rocket is launched from a launching pad that is 60 feet high at a speed of 80 ft/sec.  What is the rocket’s maximum height and how long until it hits the ground? 
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25. The length of a rectangle is 3 more than twice the width.  If the area is 324 what are the length and width of the rectangle.  Write and equation and use any technique to solve.
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